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. A positive integer with exactly two different divisors greater than | must be(Aja prime{Bjan even integer{Cla multiple of

3 Dihe square of a prime (E)the square of an odd integer

By weight, liquid 4 makes up 7.0 percent of solution | and 14.5 percent of  salution [1 173 prams c_rfmlutmn | is mixed wnh;
grams of solution 11, then liquid 4 accounts for whai percent of the weight of the resulting selutionT{A)6.09% (B) 10% (C)
10.75% (D)2 1.5% (E)50%

3. Ifaand b are integers and a-b=6, then o+b CANNOT be (A0 (B)less than & (C)greater than & ([2an even intezer (Elan odd

1~

inleger
4. In & certain country, & person is born every 3 second and a person dies every 10 seconds, Therefore, the binh and death rates

1 2 2
sccount for & population growth rate of one person every (A} 3 5 sec (B} 4-.}- gt (C) Tsec (D)1 E sec (E) 13sec

S The charge for a telephone call made ar 10:00 am. from City Y to Cily X is $0.50 for the first minute and $0.34 for each
additional minute. At these rates, what is the difference between ihe total cost of three S-minuie calls and the cost of one
| S-minule call T AR0.00 (BYS0, 16(C)50.32( IS0 48(E}E].00 b

6. The rectansular floor of & warchouse is 300 feet wide and 350 feet long, If the width remains fixed, how many additiona] feet
would have to be added 1o the length to increase the foor area by 20 percent A 42{B) 50iC) 6501 70(E} B4

7. Among all isosceles triangles RST having the measure of angle § equal (o 40°, what is the largesi possible measure for angle
R AMOA B0 CIION DI 00%(E)lt cannot be determined from the information given.
& IF24 of the number of women attending o certain dance is equol to 1/2 the number of men attending, what fraction of those

attending are womenMAYZ/S(B)3/T (C) 5/7 (D) 1M (E) 5/6

9 If n is an integer divisible by 6 bur not by 4, then which of the Mllowing CANNOT be @n infeger?
(A Z(B) 3 (Chmfe D! OE ) 12 :

100 An emergency vehicle travels 10 miles ot @ speed of 50 miles per howr, How fast must the vehicle travel on the retumn trip if the
round-trip travel 1ime is to he 20 minutes? {A)55 mph({B)60 mph(C)63 mph{D)T0 mph (E)75 mph

Fo—apdy o Ao ki (305D

|. Maryand Jane turns taking care of their sick father, who has been bedridden for roughly ten years
{A) take(B) make(C) set{D). give :

2. Mary's investiment in the stock market miltions of dollars svery year. Mo wonder she can afford such & big house,

{A). brings in(B), takes in(C]. brings up{[}). takes up

These kids were so cute and lovely that the old man decided to give them an apple AA). respectedly(B), respectably

{C). respectfilly (D), respectively _

4 Quarrels often from trifles: they can be avoided if we can all learn to be open-minded
(A} arouse(B), arise(C). rise(D). mise

Rad

5 John hardly ever means what he says. | don't think he will sell the truth this time, _ MA). doesn't he(B). does he(C). will
he(D). do |

& jane was in such a hurry to get to the station that { had a chance to talk 1o her. i [&)definitely{B)barely| Cjmerely| Ditruly

1. The mesting is expected to take place the maming of December |1 next year [_.t"._} at(B). for(C). in{D). on

8. It was not untll we finished packing we sotoul for oar destination. (A), which{B), then{C). that([}), did

4. | hate it when any staff member delays what he or she is supposed to do immediately. (A). 10 do{B). doing(C). do{D)). to

hive done

10 Mo one wams to that small island, knowing that it will be used as a dumping site for nuclesr waste
(A Tive{B). reside{C ). dwell(D)). inhakbit
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Mot long #go, moviegoars were constantly interrupted by the sound of people's cell phones ringing during & movie, play, or
concert. During romantic, exciting, or even sad scenes, someone would yell "Wei (17" into his phone, _(1)_ these all around him
Finally, some cell phone companies themselves (2)_ advertisements hefore a movie began, showing how disturbing one's personal
cell phone ring can be in public. Today, most people turn their cell phones _(3]_ when entering a movie theater. This s good, but
many athers still let their cell phones ring in libraries, on public transportation, in restauranis, and even in hospitals, This behuvios
shows . (4)_ -l'nr others and should be forbidden. 1t is time people _{3)_ that when in public, cell phanes shaould be either turned off
or set on the quieter vibrator mode. After all, public spaces are not one'’s privite home.

I [A) soething(B) pleasing{C) imitating (D] irritating
(A} published(B) laid(C) placed(D) announced
(A)on{B) offfC) up{D¥} in

{A) carelB) disregard(C) concern{}) respect
5. (A} realizediB) realize(C) must realize{D) can realize

Bk
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Comic book charscters are the [alest stars to hit the big sereen. Comic books have been popular since the |930's. But toduy,
people are loging interest in the magazines. Characters such as Superman have been in print for over 70 vears, However, after so
fong, there aren’t many stories left to tell, But there is still money to be made in movies,

Since the 1950z, television programs and movies have been based on Superman, Batman, and others, Lately, we have seen a wave
of these films and it is paying off. Spider-Mean the Movie earned over USS150 million in just its first week of release. But why the
new imerest by movie companies?

First there is alrendy an existing fan base. Since comics have been around for so long, fans are both young and old. Second,
these films are always action mavies with [ots of fighting, explosions and special effects: Action films ofien do well at the theater
Third, the marketing afterwards brings in huge returns. Dolls; costumes and video games create a huge income, Marvel, one of the
biggest comic book companies, created over 4,700 comic characters. So movie makers won'l be running out of ideas for o while.

1. According to this passage, why are comic books losing popularity?
{A) Peaple are watching movies instead
{B)Y Comic book writars can't think of any new stories
{C) Kids are playing video games.
{[) Action movies are very popular.?

(e8]

The words “big screen” in line | 15 closest in meaning 1o
{A) the movie theater.
{B} the TV screen
{C) lots of money
(D) large camic books.
3. Why are mavies based on comic book characiers so popular?
(A People ean buy costumes,
{B) Many people enjoy watching action movies,
{C) People aren'r reading comic books anymore,
([} Superman is too old.
4. Why does the author think movie companies are making these movies?
{A) To make money
(B) To increase mierest in comic books.
() To attrect attertion,
(D) Because they are éasy (o make.
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